ST YA WIHK|E
[E 8-1] HITl SiAs2 HWIX|E

X= gy 2013 2014
T2 oY & 2lgls (BHE) 32482 331,75
10HHE I o4 St QI (H) 2305,30 2284.88
CHSt ZHEHY o~ (THY) 63.98 64.96
102HHE CHSE XHSHE ~ () 434616 4282 65
517 |7 | HIRHIO ] &[T 2 SAKt 2~ () 1636 1663
=Z7h QIFHIOIE! Z2| 7|8 BAKL 2 () 366 454
Z7ICHEIR @ 22|72 BAKE 2~ () 47 9
SIHAIE ESKATIX 71 BAKE & (H) 54516 82134
Z7h2 AHMMEZIME] QIR (Y) 189 192
517 |7 | HUFHIOIE 5= (7H) 14 124
=712 SIS HUFHIOE 2~ (7H) 23 30
7|8 R&DEXL FIIZA| ZH M (AI2h 6.96 7.15
7|8 R&DEXL FIISA| Z4H Mo 5= HIE (%) 2.09 1.88
:iiﬁ ATEQOQ}t IT7|& MHIAY T™EXM EX} 7076 126,43
;JE(S%, ATEQOIQ} IT7|& MH[AY DHXIA EX} HI 078 120
DYt O|SHSH AFBKE 4= (2H1) 1676.00 1712.41
1008 nHXSIR OIS TS AKXt 4~ (7H) 113,84 112,90
MIAI QUEISI ZHURE 2~ (2HH) 866 904
12HHEEE M| QIES TR} &~ () 588231 5959.88
FE o SEds (2 7.7 9.1
1002H8E /5 A8 S514 () 523995 6008.20
GDP (H2I2h 14370.16 15726,93
1912t GDP (£/2h 99607 105231
R&DEX LIEXIE (AHLI2h 428,09 464,69
GDP CHH| R&DEX} H|E (%) 2.98 2.95
e msH| F=Xt (A2 461.36 517.01
Ee mEH| =Xte| GDP HIZ (%) 3.21 3.29
ALY oetyls XIE (H9eh 92.81 109.00
ALY Hetv|s XIEe XM XIE & HIE (%) 3.64 378
XY o5t |& XIE2| GDP HIS (%) 0.65 0.69
R&DQIF(FTE 7I&) (H/H7ZH 100219 113335




[E 8-2] BTl GAls= WIX|E

XE H3 2013 2014
10bHE R&DOIZ (H/ 7 68.07 74.72
R&DITXKFTE 7|&) (B/¢Zh 40325 44386
R&DGTXIC| R&DIE = HIE (%) 40.24 39,16
Ho|a7|Y 2 M (H9ieh 12.14 9.21
Ho|a7|Y 2 Mo 5= HIE (%) 2,07 1.50
TEIATIRL TIEAH|AY MBI TERM (AL 63.22 133.60
TEIATRL TIEAH|AY MBI THEXI HIE (%) 1.57 2.49
LH=ZQ! nfsh|a=a 4 (m) 14976 16710
10HHE LR SV |a=8 & (H) 10.17 11,02
SCI=E 1l la=s 4 (H) 5755 6313
EE MSia=2 & (H) 4308 4608
CPCI-S=§ el la=s 4 (H) 1643 1143
12HEE YIS E=R 4 (H) 7.95 7.95
7| R&DEA}L LHRX|Z (A2 300.04 322,81
7|21 RRDEXIC| R&DEX} = HIS (%) 70.09 69,47
7|% RRDEXIC| DHESH = HIZ (%) 112 115
719 7IEE FXH (G912 9.01 7.67
7|1 AstEs EXF (2912 5.50 4,98
719 = W 7I=700 =XH (A912h 1.91 2.03
71 71Eh EXF (210 69.98 4370
71 eSS TIEvhM BXF (210 86.41 58.39
71 TIEESn TIevhM BRI hEM F HIS (%) 0.32 0.21
71y G| EXte| 7| RIDEAL E HIE (%) 3.83 312
AT 7|YKIE RADEXL (AL(2h) 0.56 0.28
Chatel 7|KIE RADEXL (AL(2h 2228 24.97
77 |2t e RIDEAL B 7IUXIF HIF (%) 24.71 26.39
7| "t R 7IE7H2HA (DRI 42927 620,82
7| R&DRIH (H/HZh 68175 79014
7| R&DATA} (F/HZh 20475 23163
7| R&DATAL HIE (%) 50.78 52.19
7| R&DRIZS| FAHXt & HIF (%) 1.31 1.52
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2014

8.36
5665.11
20.20
520.11
20.87
199,42
38.34
779518

43.89

49,57
583
10.62
20,82
573
29,06
11337.95
0.27
16.31
175
47,95
21.43
3.24
20,92
3.52
7.58
5.80
245
0.80
1734.62
1723.94

100.00

2013

42,96
9.07
5569.69
20.78
489.30
21,49
192,89
39.42
6905.03

585
10.64
2711

5.21
26.41

10438.83

0.29
15,33

145
39.62
22,15
3.45
21.68
3.42
8.04
3.25
2.47
2.89

159211
1682.44
100.00

48,05

KO
B0

=

e 27171X|2] GDP HIE (%)

(il

o)

S

x
A L-ZOHO| GDP HIE (%)

AIMIE ob

od
ok
or

TI7IR] (

g
31

<

3t

k

Al

Oll LA X| ]
A B71 25 Old 2= ()

k

3} MY FIPIR| HIE (%)
A B71 28 Ol 22| HIS (%)

SYUFIPIR] 12492t
SYURIIX|

0H+E YZL|oF
0H+3 Y=o
ki)

o

___ou
Ko

o

{2

I

7|




